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“SCIENCE”

01. Forces of action and reaction are:

(A)equal and in same direction

(B) equal and in opposite direction

(C)unequal and in same direction

(D)unequal and opposite.

02. The kinetic energy of a body depends :
(A)on its mass only
(B) on its speed only
(C)on its mass as well as on its speed
(D)neither on its mass nor on its speed

03. A man sitting in a train in motion is facing
the engine. He tosses a coin up, the coin falls
behind him. The train is moving :

(A)forward with uniform speed

(B) backward with uniform speed

(C)forward with acceleration

(D)forward with retardation

04. A body of mass 10 kg, moving with a velocity
of 5 ms—1 comes to rest in 2 sec. The
magnitude of force on the body is :
(A)5 N (B) 10 N
(C)20 N (D)25 N

05. Newton's first law of motion is also known
as:
(A)law of energy
(B) law of force
(C) law of momentum
(D)law of inertia

“SCIENCE”

01. fØ;k ,oa izfrfØ;k cy :

(A)eku o fn'kk esa leku gksrs gS

(B) eku esa leku ysfdu fn'kk esa foifjr gksrs gS

(C)eku esa vleku ysfdu fn'kk leku gksrh gS

(D)eku esa vleku o fn'kk foifjr gksrh gS

02. oLrq dh xfrt ÅtkZ fdl ij fuHkZj djrh gS :

(A)dsoy nzO;eku ij

(B) dsoy pky ij

(C)nzO;eku rFkk pky nksuks ij

(D)u rks nzO;eku ij rFkk uk gh pky ij

03. ,d O;fDr jsyxkM+h esa batu dh vksj eq[k djds cSBk gSA
og ,d flDdk mNkyrk gS rFkk flDdk mlds fiNs
tkdj fxjrk gS] rks jsyxkM+h :

(A)lkeus dh vksj ,dleku pky ls xfr'khy gSA

(B) ihNs dh vksj ,dleku pky ls xfr'khy gS

(C)vkxs dh vksj Roj.k ls xfr'khy gS

(D)vkxs dh vksj eanu ls xfr'khy gS

04. ,d oLrq ftldk nzO;eku 10 kg gS vkSj 5 ms—1  dh
xfr ls py jgh gS rks yxus okyk cy Kkr djksA tc
ogh oLrq 2 sec ckn fLFkj voLFkk esa vk tk;s :
(A) 5 N (B) 10 N
(C) 20 N (D) 25 N

05. U;wVu ds izFke fu;e dks bl uke ls Hkh tkuk tkrk
gS:

(A)ÅtkZ dk fu;e (B) cy dk fu;e

(C) laosx dk fu;e (D)tMRo dk fu;e
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06. A body of mass 50 kg moves with an
acceleration of 4 m/s2. The rate of change of
momentum in SI unit is :

(A)100 N (B) 50 N

(C)200 N (D)300 N

07. The tendency of the body to maintain its
motion in a straight line is called inertia of :

(A)Motion (B) Rest

(C)Direction (D)None of these

08. Which of the following are homogeneous in
nature?
(i) ice (ii) wood

(iii)soil (iv)air

(A)(i) and (iii) (B) (ii) and (iv)

(C) (i) and (iv) (D)(iii) and (iv)

09. Blood and sea water are
(A)both mixtures

(B) both are compounds

(C)blood is a mixture whereas sea water is a
compound

(D)blood is a compound and sea water is a
mixture

10. Which of the following undergoes
sublimation :
(A)common salt (B) camphor
(C)sugar (D)sand

11. Which of the following is not a matter :
(A)heat (B) blood
(C)colloid (D)perfume

06. 50 kg nzO;eku dh ,d oLrq 4 m/s2 ds Roj.k ls
xfr'khy gS] rks oLrq ds laosx esa ifjorZu dh nj SI
ek=d esa D;k gksxh :
(A)100 N (B) 50 N

(C)200 N (D)300 N

07. fdlh Hkh oLrq dh og izo`fÙk ftlds dkj.k og ljy
js[kk esa viuh xfr cuk;s j[krh gS] dks dgk tkrk gS :

(A)xfr dk tM+Ro (B) fojke dk tM+Ro

(C) fn'kk dk tM+Ro (D)buesa ls dksbZ ugh

08. fuEu esa ls lekaxh feJ.k gS?
(i) cQZ (ii) ydM+h

(iii)feV~Vh (iv)ok;q

(A)(i) rFkk (iii) (B) (ii) rFkk (iv)

(C) (i) rFkk (iv) (D)(iii) rFkk (iv)

09. jDr rFkk leqUnz dk ikuh gksrk gS :
(A)nksuks feJ.k

(B) nksuks ;kSfxd

(C)jä ,d feJ.k gS tcfd leqæ dk ikuh ,d ;kSfxd
gS

(D)jä ,d ;kSfxd gS tcfd leqæ dk ikuh ,d feJ.k
gS

10. fuEu eas ls fdlesa Å/oZikru gksrk gS :
(A)lkekU; ued (B) diwj
(C)phuh (D)ckyw

11. fuEu esa ls dkSulk inkFkZ ugh gS :
(A)Å"ek (B) jDr
(C)dksykbM (D)bZ= (perfume)
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12. During summer, water kept in an earthen pot
becomes cool because of the phenomenon of
(A)diffusion (B) transpiration

(C)osmosis (D)evaporation

13. The solid components of blood can be
separated by :
(A)sublimation (B) centrifugation
(C)distillation (D)solvent method

14. On converting 25°C, 38°C and 66°C to Kevlin
scale, the correct sequence of temperature
will be :
(A)298 K, 311 K and 339 K

(B) 298 K, 300 K and 338 K

(C)273 K, 278 K and 543 K

(D)298 K, 310 K and 338 K

15. The following structure is not found in plant
cells :

(A)Vacoule (B) Nucleus

(C)Centriole (D)Mitochondria

16. Cell organelle which differentiaties plant cell
from animal cell is :

(A)Cell membrane (B) Plastids

(C)Nucleolus (D)Vacoules

17. Chromosomes are made up of
(A)DNA (B) Protein

(C) DNA and protein (D)RNA

18. Which of the following are covered by a
single membrane?
(A)Mitochondria (B) Vacuole

(C)Lysosome (D)Plastid

12. xzh"edky esa feêh ds ?kM+s esa j[kk ikuh fdl dkj.k ls
BaMk gks tkrk gS\
(A)izlkj (B) Hkki dk fudkl

(C)ijklj.k (D)ok"ihdj.k

13. jDr esa ls Bksl vo;o dks fdl fof/k ls fudkyk tkrk
gS :
(A)Å/oZikru (B) vidsUnzh;
(C)vklou (D)foyk;d fof/k

14. 25°C, 38°C rFkk 66°C dks dsfYou Ldsy esa ifjorZu
djus ij rkieku dk lgh Øe gksxk :
(A)298 K, 311 K rFkk 339 K

(B) 298 K, 300 K rFkk 338 K

(C)273 K, 278 K rFkk 543 K

(D)298 K, 310 K rFkk 338 K

15. fuEu esa ls dkSulh lajpuk ikni dksf'kdk esa ugha ikbZ
tkrh gS ?
(A)jl/kkuh (B) dsUnzd

(C)rkjddk; (D)ekbVksdkWf.Mª;k

16. ,slk dksf'kdkax tks ikni dksf'kdk rFkk tUrq dksf'kdk
esa foHksnu djrk gS :

(A)dksf'kdk f>Yyh (B) yod

(C)dsfUnzdk (D)jl/kkuh

17. xq.klw= feydj cus gksrs gS :

(A)DNA (B) izksVhu

(C) DNA rFkk izksVhu (D)RNA

18. fuEu esa ls dkSulk ,d f>Yyh ls <dk gksrk gS?

(A)ekbVªksdkfUMª;kW (B) jl/kkuh

(C)ykblkslkse (D)gfjr yod
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19. Which out of the following is not a function
of vacuole?
(A)Storage

(B) Providing turgidity and rigidity to the cell

(C)Waste excretion

(D)Locomotion

20. Cell wall of which one of these is not made
up of cellulose?
(A)Bacteria (B) Hydrilla

(C)Mango tree (D)Cactus

“MATHEMATICS”

21. Which of the following number is an
irrational number :

(A) 16 4 (B)    3 3 3 3 

(C) 5 3 (D) 25

22. If Z denotes the set of all integers and x, y
belong to Z, then which of the following is
not true?
(A)x + y also beongs to Z
(B) xy = 0 implies either x = 0 or y = 0 (or

both)

(C)
x
y , y  0 also belongs to Z

(D)xy also belongs to Z

23. The point at which the two coordinate axes
meet is called the :
(A)abscissa (B) ordinate
(C)origin (D)qudrant

24. If (1, – 2) is a solution of the equation
2x – y = P, then the value of P is :
(A)4 (B) –5
(C)0 (D)–3

19. fuEu esa ls dkSulk dk;Z jl/kkuh dk ugh gS?

(A)laxzg

(B) dksf'kdk dks dBksjrk o LQhfr iznku djuk

(C)vif'k"V mRltZu

(D)xeu

20. fuEu esa ls fdldh dksf'kdk fHkfÙk lsY;qykst dh ugh
cuh gksrh gS?

(A)thok.kq (B) gkbfMªyk

(C)vke dk isM+ (D)dSDVl

“MATHEMATICS”

21. fuEu esa ls dkSulh la[;k vifjes; gS :

(A) 16 4 (B)    3 3 3 3 

(C) 5 3 (D) 25

22. ;fn Z lHkh iw.kkZadks dk leqPp; gS rFkk x, y ml
leqPp; Z ds vo;o gS rks fuEu esa ls dkSulk dFku
lR; ugh gS :
(A)x + y Hkh Z dk vo;o gksxk
(B) xy = 0 n'kkZrk gS fd ;k rks x = 0 ;k y = 0 (vFkok

nksuks)

(C)
x
y , y  0 Hkh Z dk vo;o gS

(D)xy Hkh Z dk vo;o gS

23. og fcanq tgka nksuksa funZs'kh v{kka'ks feyrh gS :
(A)Hkqt (B) dksfV

(C)ewy fcanq (D)prqFkkZa'k

24. ;fn (1, – 2) lehdj.k 2x – y = P dk gy gS rks P dk
eku gksxk :
(A) 4 (B) –5
(C)0 (D)–3
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25. The number of lines that can pass through a
given point is :
(A)two (B) none
(C)only one (D)infinitely

26. In the figure, the value of x is :

3x

5x2x

(A)18º (B) 15º
(C)10º (D)12º

27. What is the measure of an angle, if six times
its complement is 12° less than twice its
supplement?
(A)48 (B) 46
(C)50 (D)52

28. What are the coordinates of the image of the
point (–2, 3) with respect to y–axis ;
(A)(2, 3) (B) (3, 2)
(C) (–2, –3) (D)(–3, –2)

29. If (K, 6) is lies on graph of 4x + ky = 20 then
find value of k.
(A)3 (B) 4
(C)2 (D)5

30. Select the correct option regarding the below
given statements (T = True, F = False):
(i) In the third quadrant, both co-ordiantes

i.e., abscissa and ordinate of a point are
positive.

(ii) In the second quadrant, for a point,
abscissa is negative and ordinate is
positive.

(iii)In the first quadrant, for a point, both
abscissa and ordinate are negative.

25. fdlh fn;s x;s fcanq ls fdruh js[kk;sa xqtj ldrh gS:
(A)nks (B) 'kwU;
(C)dsoy ,d (D)vuUr

26. fn;s x;s fp= esa x dk eku gksxk :

3x

5x2x

(A)18º (B) 15º
(C)10º (D)12º

27. ,d dks.k dk eku D;k gksxk ;fn mlds iwjd dks.k dk
N% xquk 12° de gS mlds lEiwjd ds nqxqus ls?
(A)48 (B) 46
(C)50 (D)52

28. y–v{k ds lkis{k fcUnq (–2, 3) ds izfrfcEc ds funsZ'kkad
D;k gksaxs :
(A)(2, 3) (B) (3, 2)
(C) (–2, –3) (D)(–3, –2)

29. ;fn (K, 6) oØ 4x + ky = 20 ij fLFkr gS rks k dk
eku gksxk :
(A)3 (B) 4
(C)2 (D)5

30. fups fn;s x;s dFkuks ds vuqlkj lgh fodYi dk p;u
dhft, (T = lR;, F = vlR;):

(i) rhljs prqFkkZ'ka esa nksuks Hkqt rFkk dksfV dk eku
/kukRed gksrk gS

(ii) nwljs prqFkkZ'ka esa fdlh fcUnq dh Hkqt _.kkRed rFkk
dksfV dk eku /kukRed gksrk gS

(iii)igys prqFkkZ'ka esa fdlh fcUnq ds Hkqt RkFkk dksfV nksuks
dk eku _.kkRed gksk gS
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(iv)In the fourth quadrant, for a point, the
abscissa is positive and the ordinate is
negative.

(A)TFTF (B) TTFF
(C)FFTT (D)FTFT

31. Side of an equilateral triangle is 4 cm. Its area
is :

(A) 24 3cm (B) 23
cm

4

(C) 23cm (D) 22 3cm

32. Which of the points A(0, 6), B(–2, 0),
C(0, –5), D(3, 0) and E(1, 2) does not lie on x–
axis :

(A)A and C (B) B and D
(C)A, C and E (D)E only

33. The area of the OPQ with O(0, 0), P(1, 0)
and Q(0, 1) is :

(A)1 sq unit (B)
1

sq unit
2

(C)
1

sq unit
4

(D)2 sq units

34. The mean of the first five prime number is :

(A)3.6 (B) 4.8

(C)5.6 (D)5.3

35. If the mode of 4, 9, 5, 4, 9, 5, 4, 9 and x – 10 is
9, then value of x :

(A)4 (B) 19

(C)1 (D)15

(iv)pkSFks prqFkkZ'ka esa fdlh fcUnq dk Hkqt /kukRed rFkk
dksfV dk eku _.kkRed gksrk gS

(A)TFTF (B) TTFF

(C)FFTT (D)FTFT

31. ,d leckgq f=Hkqt ftldh Hkqtk 4 cm gS rks {ks=Qy
gksxk :

(A) 24 3cm (B) 23
cm

4

(C) 23cm (D) 22 3cm

32. A(0, 6), B(–2, 0), C(0, –5), D(3, 0) rFkk E(1, 2)
dkSulk x–v{k ij ugh gS :

(A)A rFkk C (B) B rFkk D
(C)A, C rFkk E (D)E dsoy

33. fcUnqvksa O(0, 0), P(1, 0) rFkk Q(0, 1) ls cus OPQ
dk {ks=Qy gksxk :

(A)1 oxZ bdkbZ (B)
1
2
oxZ bdkbZ

(C)
1
4

 oxZ bdkbZ (D)2 oxZ bdkbZ

34. çFke 5 vHkkT; la[;kvksa dk ek/; gksxk :
(A)3.6 (B) 4.8
(C)5.6 (D)5.3

35. ;fn 4, 9, 5, 4, 9, 5, 4, 9 rFkk x – 10 dk ek/;d
(Mode) 9 gS rks x dk eku gksxk :
(A)4 (B) 19
(C)1 (D)15
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36. The simplest form of 0.123  is :

(A)
41

330
(B)

37
330

(C)
41

333
(D)none of these

37. Three angles of a quadrilateral are 80º, 95º
and 112º. Its fourth angle is :

(A)78º (B) 73º
(C)85º (D)100º

38. In the given figure, AB || CD, ABF = 45º
and CFD = 110º. Then, FDC is :

A B

C D

F

45º

110º

(A)25º (B) 45º

(C)35º (D)30º

39. The complement of (90º – a) is :

(A)– aº (B) 90º + a

(C)90º – a (D)aº

40. The base of right angle triangle is 5 metres
and hypotenuse is 13 metres. Its area will be

(A)25m2 (B) 28m2

(C)30m2 (D)None of these

36. 0.123  dk ljyre :i gS :

(A)
41

330
(B)

37
330

(C)
41

333
(D)mijksDr esa ls dksbZ ugh

37. ,d prqHkqZt ds rhu dks.k 80º, 95º rFkk 112º gS] rks
pksFks dks.k dk eku gksxk :

(A)78º (B) 73º
(C)85º (D)100º

38. fn;s x;s fp= esa, AB || CD, ABF = 45º rFkk
CFD = 110º gS] rks FDC dk eku gksxk :

A B

C D

F

45º

110º

(A)25º (B) 45º

(C)35º (D)30º

39. (90º – a) dk iwjd gksxk :

(A)– aº (B) 90º + a

(C)90º – a (D)aº

40. ,d ledks.k f=Hkqt dk vk/kkj 5 ehVj rFkk d.kZ 13
ehVj gS] rks mldk {ks=Qy gksxk :

(A)25m2 (B) 28m2

(C)30m2 (D)buesa ls dksbZ ugha
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“MENTAL ABILITY”

41. 2, 8, 18, 32, ?

(A)62 (B) 60

(C)50 (D)46

42. 3, 6, 18, 72, 360, ?

(A)720 (B) 1080

(C)1600 (D)2160

43. If TRANSFER is coded as RTNAFSRE, then
ELEPHANT would be coded as :

(A)LEPEHATN (B) LEPEAHTN

(C)LEEPAHTN (D)LEPEAHNT

44. If JUMP is coded as KVLO then GIVE will be
coded as :

(A)HHWD (B) HIUE

(C)HJUD (D)HJVD

45. Problem Figures

(1) (2) (3) (4) (5)

(A) (B)

(C) (D)

“MENTAL ABILITY”

41. 2, 8, 18, 32, ?

(A)62 (B) 60

(C)50 (D)46

42. 3, 6, 18, 72, 360, ?

(A)720 (B) 1080

(C)1600 (D)2160

43. ;fn fdlh lkadsfrd Hkk"kk esa TRANSFER dks
RTNAFSRE fy[kk tkrk gS] rks ELEPHANT dks
mlh lkadsfrd Hkk"kk esa fy[kk tk;sxk :

(A)LEPEHATN (B) LEPEAHTN

(C)LEEPAHTN (D)LEPEAHNT

44. ;fn fdlh lkadsfrd Hkk"kk esa JUMP dks KVLO fy[kk
tkrk gS] rks GIVE dks mlh lkadsfrd Hkk"kk esa fy[kk
tk;sxk :

(A)HHWD (B) HIUE

(C)HJUD (D)HJVD

45. iz'u vkd`fr;kW

(1) (2) (3) (4) (5)

fodYi vkd`fr;kW

(A) (B)

(C) (D)
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46. Problem Figures

1 2 3 4 5

Answer figures :

(A) (B)

(C) (D)

47. Which of the following Venn diagrams
correctly represents quadrilateral, rectangle
and square :

(A) (B)

(C) (D)

48. Find the day of the week on 26 January, 1950
:
(A)Tuesday (B) Friday
(C) Wednesday (D) Thursday

46. iz'u vkd`fr;kW

1 2 3 4 5

fodYi vkd`fr;kW

(A) (B)

(C) (D)

47. dkSulk osu vkjs[k fn,s x;s lEcU/k dk lfVd fu:i.k
gS] prqHkqZt] vk;r] oxZ :

(A) (B)

(C) (D)

48. 26 tuojh 1950 dkSulk okj gksxk :
(A)eaxyokj (B) 'kqØokj
(C)cq/kokj (D)xq:okj
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49.

9

2 7

3

15

6

8

4

? 26

18

25119

8

(A)72 (B) 18
(C)9 (D)19

50. Problem Figures

J P

J P E T ?
(1) (2) (3) (4)

Answer figures :

(A) (B)

(C) (D)

49. "?" ds LFkku ij dkSulh la[;k vk;sxh :

9

2 7

3

15

6

8

4

? 26

18

25119

8

(A) 72 (B) 18
(C)9 (D)19

50. iz'u vkd`fr;k¡

J P

J P E T ?
(1) (2) (3) (4)

fodYi vkd̀fr;k¡ :

(A) (B)

(C) (D)




